

N=

12

2,00

$$\lim_{x \rightarrow 10} \frac{2 - \sqrt[3]{x-2}}{\sqrt{x+6} - 4}$$

$$\frac{2 - \sqrt[3]{x-2}}{\sqrt{x+6} - 4}$$

$$\lim_{x \rightarrow 10} \frac{2 - \sqrt[3]{x-2}}{\sqrt{x+6} - 4}$$

$$\frac{2 - \sqrt[3]{x-2}}{\sqrt{x+6} - 4}$$

$$\lim_{x \rightarrow 10} \frac{2 - \sqrt[3]{10-2}}{\sqrt{10+6} - 4}$$

$$\frac{2 - \sqrt[3]{10-2}}{\sqrt{10+6} - 4}$$

$$\lim_{x \rightarrow 10} \frac{2 - \sqrt[3]{8}}{\sqrt{16} - 4}$$

$$\frac{2 - \sqrt[3]{8}}{\sqrt{16} - 4}$$

$$\lim_{x \rightarrow 10} \frac{2 - 2}{4 - 4}$$

$$\frac{2 - 2}{4 - 4}$$

$$\lim_{x \rightarrow 10} \frac{0}{0}$$

Indeterminado

$$\lim_{x \rightarrow 10} \frac{2 - \sqrt[3]{x-2}}{\sqrt{x+6} - 4}$$

$$\frac{2 - \sqrt[3]{x-2}}{\sqrt{x+6} - 4}$$

$$\lim_{x \rightarrow 10} \frac{2 - \sqrt[3]{x-2}}{\sqrt{x+6} - 4}$$

$$\frac{2 - \sqrt[3]{x-2}}{\sqrt{x+6} - 4}$$

$$\cdot \frac{2 - \sqrt[3]{x-2}^2}{\sqrt{x+6}}$$

$$\frac{\sqrt{x-2}}{\sqrt{x+6}}$$

$$\lim_{x \rightarrow 10} \frac{2 - \sqrt{y-2}}{-4\sqrt{y+6}}$$

$$\frac{2 - \sqrt{y-2}}{-4\sqrt{y+6}}$$

$$\lim_{y \rightarrow 5} \frac{2 - \sqrt{y-2}}{-4\sqrt{y+6}}$$

$$\frac{2 - \sqrt{y-2}}{-4\sqrt{y+6}}$$

$$\lim_{y \rightarrow 5} \frac{2 - \sqrt{3}}{-4\sqrt{11}}$$

$$\frac{2 - \sqrt{3}}{-4\sqrt{11}}$$

$$\lim_{y \rightarrow 5} \frac{2 - \sqrt{3}}{-4\sqrt{11}}$$

$$\frac{2 - \sqrt{3}}{-4\sqrt{11}}$$

$$\lim_{y \rightarrow 5} \frac{2 - \sqrt{3}}{-4\sqrt{11}}$$

$$\frac{2 - \sqrt{3}}{-4\sqrt{11}}$$

//